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1 4306\ EIES | KEHT A 5| 1,489 13.65] 1.2 5b55|4mll 2.8] 563|31m22 371
2 12|18 & = iETERELE 5| 1,430] 14.58] 0.5 498|3m74 2| 468]37mb2 464
3 4307|R1H BE | KEHTHA 5| 1,360] 16.25] 0.5 397[{4m08 3] 556|33m68 407
4 612|#H WE [(WAVEZ I 5| 1,340] 14.51] 0.5 502|3m64 2.4] 443]|32m86 395
5 2513| MM = |Rr 5| 1,279] 16.27] 0.5 395|3mb9 1.9 430(36m82 454
6 4304 R HKR | KEHTAAS 5| 1,125] 16.34] 0.5 391|3m69 4.2] 456]24m94 278
7 1208wkl #5.0v | AHBrRY-+ 5| 1,082 17.00] 1.2 351|3m74 3.2 468|23m92 263
8 3304|125 =B  |[EETRYU— b 5| 1,061] 16.08] 1.2 407|3m18 2.6] 324|28m47 330
9 3006|fBH HEi |=iEkEL 5 987 17.98] 1.2 291|3m45 2.9] 394|26mb2 302
10 6l4|5M $HE&E  |WAVERIE 5 962 16.09] 1.2 406/3m03 3.4] 286|24m4l 270
11 331180 Gt [EWT R U —F 5 938] 18.67] 0.5 249|3m82 1.8 489[19m70 200
12 11|l e [=iEEkELE 5 9191 18.69| 1.2 248)2m&0 1.5 227(36m16 444
13 010(BEXAR |=smbEL 5 916] 18.08] 0.5 285[2m8&0 1.3| 227|33m46 404
14 1211 (ECHEELER | AH7a)-+ 5 897 16.47] 0.5 383[3m21 2| 332|18m4b 182
15 3954 RERE A |EMEERREL 5 843| 18.50( 0.5 260{2m95 2.3] 265]27m64 318
16 2305|1LH VERE  [MHEFIAEZ 5 802 17.43| 1.2 325[2m49 2.2| 147|28m48 330
17 806|HE MEF |[=MEL 5 788] 18.76] 0.5 244)3m05 2| 291)23m26 253
18 3310|144 EA BT R YU — & 5 716 17.77] 0.5 304|2m8&4 2.9] 237|17m96 175
19 1209(fAAR ZHE  [AHBTRY-+ 5 673 17.78] 0.5 303|2m96 1.1 268[{13m06 102
20 1002(XH #& |HEFEL 5 576 22.88] 0.5 50[2m73 2.11 209|27mb7 317
21 1003|18®E PR (HEFEL 5 539] 19.12] 1.2 222|2mb4 2.71 160|16m75 157
22 1723 BHR |—=EBERS 5 5111 20.10f 0.5 162)2m70 2.3] 201|16m17 148
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1 802|/MII KE  |=MEL 6] 1,692 13.90] 0.2 540|4m15 2.4 574]145m28 578
2 2507(HF E—  |IwRr 6] 1,666 13.44] 0.2 568|4m19 3.3] 584|40m96 514
3 3588|Hfs BEfE [EETA)-b 6] 1,651 13.96] 1.3] 536/4m35 3.6] 625|39m29 490
4 3589|EH Bk |EETAU-H 6] 1,600 13.86] 1.9 542|4ml7 1| 579|38mb8 479
5 1204(FH £ 2 AIEETAY- 6] 1,548] 13.06] 0.6 591|3m87 1.7 502(36m94 455
6 2843|HE HX¥ [P 17T 6] 1,510 14.12] 1.3] 526|3m68 3.6] 453]42m02 531
7 3301 |FRREE &7V -+ 6] 1,465 14.29] 0.2 516/3m85 3.8] 497|36m73 452
8 9Q27|xH IE  |AAEDIEARELE 6] 1,449] 15.67] 1.9 432|4m07 2| 553[37mb5 464
9 601|FK HtE |WAVEZIE 6] 1,420 15.00] 0.6 473]4m39 2.3 635|27Tm27 312
10 928|'EH = |AADIERREEL 6] 1,409] 15.47] 0.2 444]13m88 1.6 504{37m37 461
11 2501 =R /ARy 6] 1,408] 13.92] 1.3] 538|3mb6 3| 422|36m43 448
12 3590(fRE: B0 |ERMETAY-H 6] 1,395 13.93] 0.6] 538|4m02 2.7 540|27m61 317
13 18|+ BE |AADILxEL 6] 1,393 15.01| 1.3] 472|3m71 1| 461|37m?29 460
14 11|t WE |AADILREL 6 1,391 15.20] 1.3] 460|4m04 2.8 545|32m24 386
15 9241°T)1l sk |AmADIEAREELE 6] 11,3901 15.95] 0.6] 415|3m8&9 0.8 507|37m81 468
16 2892|TH: BX [KERMY 177 6| 1,352 15.11] 1.9] 466|3m89 3.8 507|31m76 379
17 43032 2 | KEHIT A 6| 1,240 15.27] 1.3| 456(3m64 3.5 443|29m22 341
18 2508|HF &K |/ WRIr 6] 1,228] 13.99] 1.9 534{3mb50 3.1 407|25m56 287
19 3302|PkfE BER |EBIT AV — b 6] 1,201 15.56] 0.6] 439|3m65 1.9] 445|27mb8 317
20 2505 BE  |/ARr 6| 1,167 15.28] 0.6] 456|3m36 1.7] 371]29m14 340
21 43028 BK | KEHITHA 6] 1,050] 16.30] 1.9 393|2m97 0.6 271|32m24 386
22 3948|5 iR FERA R ERRE L 6] 1,043] 17.09] 1.9 345|3m62 4.1 438|23m75 260
23 3945 R R FER T ERRE |k 6 9941 16.62 0.2 374|3m15 2.1 317|26m65 303
24 803[FIE HE |[mMEL 6 963| 17.721 0.6 307|3m42 2.4 386|24m44 270
25 801|538 & |[mMEL 6 957 18.89| 1.3 236|3m1l12 1.1] 309|34m06 412
26 804|HE Fic |=mMEL 6 933 17.72f 1.9 307|3m42 1.4] 386|22m41 240
27 3701|EH &=E |HeFvy X 6 7751 17.50] 0.6 320|12m97 2.2 271|118m62 184
28 3702|lhit BBE |HPeFy X 6 608] 19.49] 0.2 199|2m63 2.4 183|21m43 226
29 3933|HH & |EWEERELE 6 932] 15.56] 1.3] 439 0{39m49 493




FEVNFERMB AR

e GFEERF)

] i 80mH B SN -1
L | F > /8 — EF4 BEEA FE | BRE - -

Eas- S V= = S W =t > S 1= -l =% - S K= 3

1 1209(81H FER AT~ 5| 1471| 15.34| -0.2| 492|3m23 | 1.4| 389|34m97 | 590

2 3005(FR %K = RkE - 5| 1284 16.75| -0.2| 398|3m79 | 2.2| 539|19m44 | 347

3 3006|7"A ERTE =ihkE E 5| 1245| 16.10| -0.1| 441|3m43 | 2.5| 443|20m31 | 361

4 4308|/EiE = KEHTIRS 5| 1233| 16.92| -0.1| 387|3m35 | 1.7| 421|24m42 | 425

5 4309|FHF T AN [KEHTHA 5| 1152| 17.01| 0.1| 381|3m47 | 2.2| 454|17m49 | 317

6 3512|2H 133 BETAY-H 5| 1136| 18.07| -0.1| 310[3m29 | 2.3| 405[24m19 | 421

7 T03|F & & = I 7 fE 5/ 1087| 18.83| -0.1| 260|3m33 2| 416(23mb4 | 411

8 804|FILEHE |EmMkEL 5| 1066| 16.96| -0.2| 384(3m27 2| 400{15m22 | 282

9 1006|&H 2 B 5| 1021 18.62| -0.1| 274|3m24 | 2.4| 392|19m94 | 355

10 23094 HEFS MEFIRER 5|  876| 18.24| 0.1] 299|2m47 | 1.9] 186|22m27 | 391

11 371312 E mxic HYFxv R 5| 818| 17.72| 0.1| 333|2m78 | 0.6] 269|11m03 | 216

12 803|&12 #aHE = EpE 5| 803| 18.59| 0.1| 276|3m02 | 1.7| 333|9m60 | 194

13 3306(E1E HhJ BT 2 — b 5| 688| 18.61| 0.1| 274|2m48 | 2.5| 189|11m61 | 225

14 3715|MHA MR HA  |HeF v X 5|  666| 19.55| -0.2| 212|2m71 | 1.5| 250|10m24 | 204

15 3305(FHRREMERE |72 Y — b 5|  427| 19.78| -0.2| 196 0]11m97 | 231
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1 01BN #E=E = lerEkE b 6| 1777 14.17| -0.1| 570|3m96 | 2.3| 585[37m04 | 622
2 4302|f8H HEE KEDHTHHS 6| 1750| 13.80| 0.7| 594|4m37 | 1.6| 694|26m78 | 462
3 3574|F G fEE BETAY-h 6| 1651| 13.93| 0.7| 586/4m03 | 1.5| 603|26m81 | 462
4 4301|FaILEMKE | KESHTHAS 6| 1452| 16.43| 1.1| 419|4m03 | 2.6| 603|24m71 | 430
5 1202| A F0mt R 6| 1422| 17.61| -0.1| 341|3m46 | 3.2| 451|37mb57 | 630
6 1208|+H BEX ORI 6| 1366| 17.33| 0.7| 359|3m76 | 1.3| 531|27m71 | 476
7 1205|#H F1A P UR 6| 1335 14.90| 0.2| 521|3m68 | 1.2| 510[{16m64 | 304
8 3515(% B FETA)-H 6] 1329| 13.93| -0.1| 586|3m47 | 3.7| 454|15m73 | 289
9 2507|fREH AT |IBRIr 6| 1327| 17.52| 0.7| 347|3m73 | 2.8| 523|26m50 | 457
10 2502|fEte kE IR 6| 1321| 14.10| 0.2| 574|3m40 | 1.3| 435|17m15 | 312
11 2501(2M[ &% BRI 6| 1307| 14.75| 1.1| 531|3m70 | 3.4| 515[13m93 | 261
12 601|F1F #i%s WAVE =2 6| 1289| 16.11| 1.1| 441|3m74 | 2.1| 526|17m81 | 322
13 1203(RfE £Z U 6| 1220| 14.30| 1.1] 561|2m92 | 1.3| 306/19m83 | 353
14 3510(/F £ 22 BETA)-H 6] 1196| 13.33| 1.1| 625|2m78 | 1.9] 269|16m53 | 302
15 902|117 &%k BEOIEZBEL 6] 1169| 15.31| 1.1| 494(3m18 2| 376|16m33 | 299
16 3923|/NERER (AR ERRE L 6| 1047| 17.89| 1.1| 322|3m10 | 2.4| 355/20m89 | 370
17 2503[RAFIKY  |/WRIr 6| 1041| 18.17| 1.1| 304|3m33 | 1.9| 416(17m77 | 321
18 2304 | B LEKE  |MEFIrER 6| 1018| 16.95| -0.1| 385|2m93 | 1.5| 309(17m97 | 324
19 1101(#ZH E4L ROTERE 6| 989 18.33| 0.7| 293|3m22 | 2.1| 387|16m96 | 309
20 603| LB TAR  |WAVERE I 6] 975| 17.18| -0.1| 369|2m81 | 1.5| 277|18m27 | 329
21 3920|HE Fix: JiE [ R R R £ 6 974 17.18 0.2 369(2m93 | 1.9] 309(16m14 | 296
22 1722|MHE T —2BERR 6] 963| 18.39| 0.7| 289|3m05 | 2.4| 341|18mb54 | 333
23 2302|5H PR MAEFIZER 6] 947| 19.22| 0.2| 234|2m76 | 1.9| 264|25m99 | 449
24 2506( L8 RE IR 6] 928| 16.49| -0.1| 415|2m73 | 1.6| 256|13m62 | 257
25 4306|2AADIE  [KEHTHAS 6| 881| 16.95| 0.2| 385|2m51 2| 197|16m36 | 299
26 607|:ETT FK WAVE & il 6] 875| 18.25| 0.2| 298|2m61 | 1.2| 223|19m89 | 354
27 3303( Kk EE HIHT 2 — b 6]  749| 18.36| 0.2| 291|2mb52 | 2.1| 199|13m79 | 259
28 1105(#R = RofEkE 6]  740| 19.34| -0.1| 226|2m66 | 2.2| 237|14m96 | 277
29 3301[FEMEEE  [EE TR Y — b 6] 691| 19.52| 0.7| 214|2m85 | 2.1| 288|9m27 | 189
30 95|/ BEHR B DIE AL 6] 669| 19.36| 0.2| 224|2m89 | 2.1| 298|6mb57 | 147
31 3302|)Il& & HIHT 2 — b 6|  442| 19.57| -0.1] 210 0/12m06 | 232




